8%u 8%u 8%v (X + 1) * A

(A +2Q) * +Q 2+(A+Q)* - =0;
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8%v 8%v 8%u (r + v) * A

(A +2Q) * +Q + (A + Q) * - =0;
oy? ox? 0x 0y

\/(x + w2+ (r+v)?

Flux Boundary Conditions

ov ou
Ax— + (A +2Q) » — =0;
oy ox
ou Ov
Qx |—+ — | =0;
dy O0Ox
o%v v
Q * E— E— = H
ay? ox?
ov ou
Ax— + (A +2Q) » — =0;
oy ox

Inequality Boundary Condition

g= -r+ \/(r+v)2+ (u+x)2 =0

u and v are displacement field which are functions of x and y

ris a constant.

Q and A are constants

A is the lagrange multiplier used to impose the inequality constraint(g) while minimising the potential
energy.



